
Kantonsschule Solothurn  Integralrechnung 
  RYS 

 
Lösungen - Grundlagen 
 

1. a) F(x) = 
�

�
x2 +C 

b) F(x) = 
�

�
au3 + C 

c) F(x) = 
�

�
t4 + C 

d) F(x) = x3 – x2 + 3x + C 

e) F(x) = 
�

�
z3/2 - 

�

�
z4/3 + C 

f) F(x) = 
�

�
t3 - 

�

�
t + 

�

�
ln|t| + 

�

��
 + C 

g) F(x) = 
�

�
a2x3 – b2x + C 

h) F(x) = -2cosx – 3sinx + C 

i) F(x) = 0.5*sin(2t) + C 

k) F(x) = 2eu - 
�

�
e2u + C 

l) F(x) = -e-3z + C 

m) F(x) = -8cosx + 
�

√�
√
 + C  

n) F(x) = ln|x – 3| + C 

o) F(x) = x2sinϕ + C 

p) F(x) = -	
�

�
cos(2u) + C 

 

4. f(x) = 
�

�
x3 – 3x2 + 5 

 

5. a) f(x) = 
�

�
x3 + 4x + 

�

�
 b) h(x) = 

�

��
x4 - 

�

�
x3 - x2 + 

��

�
x + 

��

��
 

c) g(x) = 
�

�
x(3/2) – 4x + 8 d) h(u) = - sin(u) + 1 

 
 

6. a) 
���

�
 b) 


��

��
 c) 1.5a3  

d) 55.5 e) 
����

�
 f) 

��

�
 + c 

g) 
�

�
ln	(

�

�
) h) -2 i) -2sin(c) 

k) 
�

�
 l) ln(

�

�
) m) 1.18 

 

7. a) b = 6 b) b = ±2 c) b = 7/4  


